Meeting\_009 & 10

Monday, December 21, 2020 8:31 AM

$$V = \frac{y}{y} =$$

$$AY_{z} \xrightarrow{Y} X | Y \otimes X | \stackrel{1}{,} \xrightarrow{Y} X | \stackrel{1}{,} \xrightarrow{Y} X | \stackrel{1}{,} \xrightarrow{Y} = \frac{Y} | X \otimes X | \stackrel{1}{,} \xrightarrow{Y} X | \xrightarrow{Y} X | \xrightarrow{Y} X | \xrightarrow{Y} X | \xrightarrow{Y} X |$$

$$Ar < 10 \longrightarrow V = \frac{0 \text{ bg dt}}{1 \text{ km}} = \frac{1 \text{ bg Hd. }\chi (r. \kappa^{-1})^{T}}{1 \text{ kg Hd. }\chi (r. \kappa^{-1})^{T}}$$
$$= \frac{100 \text{ g Hd. }\chi (r. \kappa^{-1})^{T}}{1 \text{ kg Hd. }\chi (r. \kappa^{-1})^{T}}$$
$$= \frac{100 \text{ g Hd. }\chi (r. \kappa^{-1})^{T}}{1 \text{ kg Hd. }\chi (r. \kappa^{-1})^{T}}$$

$$\overline{V} = \Lambda \overline{\Gamma}_{10} \chi \overline{1}^{-2} m_{5}^{2} = \Lambda \overline{\Gamma}_{10} \chi \overline{1}^{-1} cm_{5}^{2} = \Lambda \overline{\Gamma}_{0} \dots m_{5}^{2} \int_{0}^{\infty} \int_{0}^{\infty}$$

$$\frac{C_{d}}{Re} = \frac{\xi_{X} \Delta g}{\tau_{2} \rho^{2} \sqrt{\pi}} = \frac{\xi_{X} (J_{X}) \chi^{1} (J_{X})}{\tau_{X} (J_{X}) \chi^{1} (J_{X})} = \frac{\xi_{X} \tau_{0} \chi^{1} J_{0}}{\tau_{X} (J_{X}) \chi^{1} (J_{X})}$$

$$= \frac{\xi_{X} \tau_{0} \chi^{1} J_{0}}{\tau_{X} (J_{X}) \chi^{1} (J_{X})} = \frac{\chi_{0} \chi^{1} J_{0} \chi^{1} (J_{0}) \chi^{1} (J_{0}) \chi^{1} (J_{0})}{\tau_{X} (J_{0}) \chi^{1} (J_{0})} = \frac{\chi_{0} \chi^{1} J_{0} \chi^{1} (J_{0})}{\tau_{X} (J_{0}) \chi^{1} (J_{0})} = \frac{\chi_{0} \chi^{1} J_{0} \chi^{1} (J_{0}) \chi^{1} (J_{0}) \chi^{1} (J_{0})}{\tau_{X} (J_{0}) \chi^{1} (J_{0})} = \frac{\chi_{0} \chi^{1} J_{0} \chi^{1} (J_{0}) \chi^{1} (J_{0}) \chi^{1} (J_{0}) \chi^{1} (J_{0})}{\tau_{X} (J_{0}) \chi^{1} (J_{0}) \chi$$

Applied Fluied Mechanic in Food Industry Page 2

$$dT = \frac{1 \times x \times T_1 \otimes \chi_1 - 6}{T \otimes \chi_1 + T} = \frac{1 \times X \otimes \chi}{T \otimes \chi} = \frac{1 \times X \otimes \chi}{T \otimes \chi} = \Sigma T \times \chi + \frac{1}{T} = \Sigma T \cdot \chi_1 - \frac{1}{T}$$

$$d = 1.10 \times 10^{-2} m = 1.10 \times 10^{-2} \times 10^{+6} = 1.10 \times 10^{+7} = 1.00 \times 10^{-2} m$$